
Opérations avec deux fractions (C)

Nom: Date: Note:

Calculez chaque résultat.

1.
7
4 ×

3
2 = =

2.
38
9 × 13

9 = =

3.
14
5 − 7

3 = − =

4.
14
9 × 5

3 = =

5.
5
2 +

55
17 = + = =

6.
1
3 ÷

19
4 = × =

7.
5
3 +

39
14 = + = =

8.
4
3 +

15
4 = + = =

9.
5
3 −

13
8 = − =

10.
7
4 −

22
19 = − =

MathsLibres.com



Opérations avec deux fractions (C) Réponses

Nom: Date: Note:

Calculez chaque résultat.

1.
7
4 ×

3
2 = 21

8 = 258

2.
38
9 × 13

9 = 494
81 = 6 881

3.
14
5 − 7

3 = 42
15 −

35
15 = 7

15

4.
14
9 × 5

3 = 70
27 = 21627

5.
5
2 +

55
17 = 85

34 +
110
34 = 195

34 = 52534

6.
1
3 ÷

19
4 = 1

3 ×
4
19 = 4

57

7.
5
3 +

39
14 = 70

42 +
117
42 = 187

42 = 41942

8.
4
3 +

15
4 = 16

12 +
45
12 = 61

12 = 5 112

9.
5
3 −

13
8 = 40

24 −
39
24 = 1

24

10.
7
4 −

22
19 = 133

76 − 88
76 = 45

76
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